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Explain the mistakes

Mistake 1 Mistake 2
3.4x100=3/00 0.7 %100 =700

Mistake 3 Mistake 4
35+10=350 6.4x10=60L

Explain the mistakes

63x27
Mistake 1 Mistake 2
60x20-1200
3«7-2 60
1200 +21=122| 3

20+ 420 +60+21- 62!
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Explain the mistakes

163x27
Mistake 1 Mistake 2
163 163
x27 x27
FL 721
326 2260
1L67 2981
I know... so...
24x18 =432
25x18=

25x17 =
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| know... so...
25x48=_
100 x 48 = 4800
_ x48=4848
| know... so...
60x85=__

240x 85 = 20400
242x85=

Broken calculator

‘The 8 and 2 keys on my calculator are broken!”
How can | use it to work out:

50x%28
25%18
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Is it the same?

11x11 99+18

1s 13X 9 the same as...

i

130-9 39x3

Is it the same?

800+ 160 240x2x2

Is 24 X 40 the same as...

6x160 20x40x4




